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 1,630 ÷ 10 = 2,480 ÷ 10 = 2,700 ÷ 10 =

 3,040 ÷ 10 = 6,000 ÷ 10 = 3,980 ÷ 10 =

 4,500 ÷ 10 = 2,000 ÷ 10 = 4,020 ÷ 10 =

 5,320 ÷ 10 = 6,800 ÷ 10 = 8,000 ÷ 10 =

Dividing

 50 ÷ 10 = 80 ÷ 10 =  10 ÷ 10 =

 120 ÷ 10 = 60 ÷ 10 =  190 ÷ 10 =

 230 ÷ 10 = 40 ÷ 10 =  160 ÷ 10 =

 30 ÷ 10 = 300 ÷ 10 =  330 ÷ 10 =

 70 ÷ 10 = 390 ÷ 10 =  560 ÷ 10 =

 90 ÷ 10 = 420 ÷ 10 =  850 ÷ 10 =

Write the answer in the box.

 10 60 10 90 10 120 10 70

 10 10 10 200 10 40 10 260

 10 370 10 410 10 560 10 630

 10 690 10 800 10 850 10 900

Write the answer in the box.

Write the answer in the box.

Write the answer in the box.

60 ÷ 10 = 20 ÷ 10 =6 8 2
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